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h—F4£ H—FREBHR | MAE |R—FRI L RERTIIL |FREF CEaRs
JCB—ih—F 1/15(K) 100,000 0 1,500 825 2,175
JZFHh—EH—K 1/15(K) 100,000 0 1,500 825 2,175
ANAT A9 ZH—F(—h%) A=%37ALA | 300,000 6,000 10,000| 14,300 5,700
YSFhI—ILRA—F 1/15(K) 400,000 6,000 15,000 10,400 19,600
ANAT A9 ZH—F(—h%) A=#357 LA | 500,000 12,000 18,000| 14,300 21,700
VYZFAT—ILRAh—F 1/15(K) 500,000 6,000 16,000| 10,400 21,600
ANAT Ay ZH—K(—HE) A=%37ALA | 600,000 12,000 19,000( 14,300 23,700
VYZFhI—ILEh—F 1/15(K) 600,000 6,000 17,000 10,400 23,600
ANAT Ay Zh—K(—H#) A=%&37ALIA | 700,000 27,000 35,000 14,300 55,700
VYZFhI—ILEh—F 1/15(K) 700,000 13,500 29,250 10,400 48,100
YZFAI—ILEAh—FK 1/15(K) 1,000,000 21,000 43,500| 10,400 76,600
YSFhIT—ILRH—F 1/15(K) 1,500,000 33,000 66,500 10,400 122,600
VYZFhI—ILEh—F 1/15(K) 1,800,000 33,000 69,500| 10,400 128,600
VYZFAT—ILRAh—F 1/15(K) 2,000,000 51,000 98,500 10,400 186,600
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